
 

 

RowColumn values:  

Row 1: Column 1 = 3                               Row 1: Column 2 = 17 

Row 1: Column 3 = 21                    Row 1: Column 4 =8 

Row 1: Column 5 = 4                 Row 2: Column 3 = 15 

Row 2: Column 1 = 10                    Row 2: Column 4 = 25 

Row 2: Column 5 = 13                   Row 2: Column 2 = 6 

Row 3: Column 1 = 24                   Row 3: Column 5 =22 

Row 3: Column 3 =1                    Row 3: Column 4 = 4 

Row 3: Column 2 = 20 

 

ANALYSIS 

1. Declare and instantiate the values of Row 1 as an array of integers. 

Ans: int [] rowOne = {3,17,21,8,4} 

2. Suppose that you have declared and instantiated the values ofRow 3 as an array of integers, 

with a variable name of rowThree [ ]. What will be the value of rowThree [3] ? 

Ans: 9 

3. Suppose that you have declared and instantiated the values ofRow 2 as an array of integers, 

with a variable name of rowTwo[ ] . How many elements will rowTwo [ ] have? 

Ans: 5 


